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ABSTRAK

Skripsi yang berjudul “SOME GRAMMATICAL ERRORS MADE [N
WRITING BY STUDENT OF ENGLISH DEPARTMENT * ini membahas tenltang
Lesalahan-kesalahan vang dilakukan dalam menulis bahasa Inggris

Tujuan dari penulisan skripsi adaluh untuk  mengidentifikasi kesalahan-
kesalahan grammar yang terjadi dalam fulisan yang dibuat oleh mahasiswa jurusan
sastra ingeris yang mengambil mata kuliah writing pada semestes akhir 20062007

Metode yang digunakan dalam mengembangkan penulisan ini adalah metode
penelitian pustaka dan penelitian lapangan, pada penelitian pustaka, penulis mencari
dan membaca beberapa buku dan materi lain yang ber hubungan dengan penulisan
ini.selanjutnya, penclitian lapangan diambil dari beberapa tulisan yang dikerjakan
oleh mahasiswa jurusan sastra inggris Universitas Hasanuddin yang sedang mengikuti
mata kuliah writing pada semester akhir 2008/2007.

hasil penelitian ini menunjukkan bahwa dalam tulisan mahasiswa masih
terjadi kesalahan dalam menggunakan grammar bahasa inggris. Kesalahan-kesalahan
itu adalah kesalahan dalam menggunakan infinitive, subject verb agreement, number
agreement, verb tense, word form, kesalahan dalam preposition choce,
menghilangkan subject, noun, auxiliary verb, conjunction serta kesalahan dalam word
order. Sebagni tambahan, semoga dari penulisan, mahasiswa bisa lebih berusaha

dalam mempelajar dan menguasai grammar bahasa inguns.
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CHAPTER ONE

1. Introduction

[n this chapter, the writer will explain the introduction of the writing. This
chapter includes the background of writing, the identification of problem, the scope
of problem, the statement of problem, and the objectives and significances of
problem.

1.1.  Background of Writing

Every language has system and nomns in order to make us easy 1o produce
them and to avoid misunderstanding. Language is systematic. The system of any
Janguage is the grammar of that language which every language has its own structure
and pattern. Grammar has become the vital interest of a language. English for
instance has its own pattern and structure where many students still face difTiculties
and make error in learning and producing it. It is may be caused by its complicated
rules and aspect. That is why; student must master the usage of the rules and aspects
before they produce English both in oral and written English.

The grammar of English has a rule. The grammatical rules are essential for the
mastery of English language. By knowing the grammar, it is nice and easy to
understand a sentence. We can enjoy very much if a sentence uses grammatical
sentences. We can speak and write with clarity and precision and hear and read with
understanding if we have a good grammar and obey the rules. We can not use words

unless vou know how they should be put together. However, we must master the




English grammar to produce both oral and wrilten English in order to get clear, good,
and effective English.

Talking about grammar, there are two interpretations related to it. [t can be a
hook containing a theory of a language which is written by a linguist. it can be also
the theory of the language, refers to the language leamer's competence in the
language that 15 stored in the bram. In addition, it is the deseription of a language and
the rules which must be obeved to construct well formed sentences,

Mowadays, there are still many students who make errors in using English
both oral and written English, especially about their grammar. They do not
understand much about the grammatical rules of English which has made them
misunderstand and misinterpret when they speak and write in English, They do not
also obey the rules, because a small emor n using English can influence the meaning
of the English. The difficulties of producing good English are caused by their lack of
skill in forming a sentence. That is why, students must learn the grammar if they want
to communicate English with a clarity and precision.

In conclusion, it is clearly that grammar really has to be known in order to
avoid confusion, difficulties and commonly error in understanding English. English
leamer, especially the student of English department, still makes grammatical errors
in using English. That is why; the writer is motivated to choose this writing under the
sitle "Grammatical Errors Made in Writing by Student of English Department Faculty

of Letters, Hasanuddinn University".
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1.2. Identification of Problem

Based on the title, some grammatical errors made in writing, the writer would
like 1o identify some problems, they are:
1} The grammatical errors made by the student in writing English

73 The most frequent types of grammatical errors made by student in wriling

1.3. Scope of Problem

The title of this writing will involve many facts of errors which accur in
writing. From the data, errors can be found on the level of morphology, lexis, syntax,
spelling, etc. However, the writer will not discuss all the levels but only some
possible grammatical errors in syntax.

As mentioned above, the writer only tries to analyze some possible
grammatical errors in syntax. The errors in syntax that can be found in the data are
probably the errors in producing verb groups, errors in word order, errors in using
preposition, erTors in using (enses, omission of verb, omission of subject, ermors in
using concord, and other possible errors can oceur,

1.4 Statement of Problem

There are two interesting problems which the writer wants to search in the

analysis of this writing. They are:
1) What are the grammatical errors made by student in writing English?
7] What is the most frequent type of grammatical errors made by student in

writing  English?




1 5. Ohjectives and Significances of the Writing

As shown in the background of the writing, students still often make errors or
mistakes in using English as second language, Therefore, some objectives can be
presented in this winiting. They are:

|,5.1. Objectives of the Writing

There are two objectives of the writing that the writer wanis to take. They are:
1) Toknow the grammatical errors made in writing English by the students,
2) To describe the types of grammatical errors frequently made in writing
English by the students.
1.5.2. Significances of the Writing
In writing this thesis, the writer expecis to get the si gnificances. There are two
significances of this writing, they are:
1) To give the students about the grammatical errors they made in writing.
2} To give the description of the grammatical errors which the student frequently
make in writing.
In conclusion, all the result of this writing will give useful information
especially in using grammatical English in writing particularly to the student of

English department.




e

CHAPTER TWO

THEQRETICAL BACKGROUND
2.1, Previous study

There are some previous studies that the writer finds out to support this
writing, They are:

Fitria (2006). The focus of her writing is on the grammatical errors made in
subject-verh agrecment.

Hastaty mano (1991). She analyzes her writing on ihe student's grammatical
errors in speaking English but, she also wants to know on why the students still make
the errors especiaily in using simple past tense.

Rasna daud (1991). The title of her writing is “analysis kesalahan dalam
komposisi bahasa inggris “. She tries to focus her writing on the errors made in
writing English.

The three previous writings above have a close relation with this writing but,
this writing still differs from them. This writing will focus on the some possible
grammatical errors made in writing by students of English department, period 2005,
who take English writing class.

In this chapter, the writer gives ideas to which is used to support the research,
the writer takes many terms on what the error is. These terms comes from the opinion

of some linguist, as follows:




2.2. The Definitions of Error

It is commonly known that error in language is often made by leamer who
learns foreign language as their second language. Error can happen at anytime when
the leamner does not follow the rules of the language. They sometimes can not avoid it
even though they have learnt and known the correct rules.

According to Nourish (1983:7) "an error is a systematic deviation when a
leammer has not learnt something and consistently *gets it wrong’, He also says that
error is & systematic deviation from the accepted code while, according 1o Noss
(1979:23) "an error is a departure from the linguistics structure of the language is
intended to be conveyed. It is a departure from the rules of semantic, phonology,
syntax and grammatical of the language. Then, H.V, George (1972:2) says that an
error appear as unwanted form avoided by a particular course designer or teacher.

Burt and kiparsky (1972) also make a distinction in error which relates it 10

i
comprehensibility. They said that two fundamental types of error are global and local

error. Global error is the type which affects the interpretation of the whole sentences.
This error causes a misunderstanding or a failure in getting the messag;. The aim of
this error is to measure the student’s ability to arrange sentence in logical errors, to
comprehend the message in the context by using -:unm;turs. Local error is merely a
part of it, a clause or a phrase. This I::'n.d of eror can cause trouble in particular
constituent or clause in a sentence. It does not significantly hinder the comprehension
of the sentence.

Concluding the terms above, we can say that emar will occur if there are
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:carrect rules used by the learner, It can arise if the language leamers can nol
produce the correct form of the language they use. This can happen to everyone who
has learnt the form of the language, in the process of learning and even to the native
speaker if they are in the unsuitable situation when they are producing their language.
it can be in the form of pronunciation, syntactical errors or semantically errors. [n
addition, these errars can be regarded as failure or as positive aids to leaming,
2.2.1. Systematic Ermor
According to corder, in leaming, there are three steps which can be found as
evidenced by natural and degres of systematically. The steps can be explained as
follows: |
A, pre systematic slage
The learner is aware of the existence of particular system or rule in the
target language. When asked to comedt hig sentence he can not do so nor give
any account of why he chooses the particular from he did.
B. systemalic stage
The learner error is singular, When asked to correct his error, the
learner can do so but, the learmer can give some coherent account of the rule
he is following.
C. post systematic stage
The learner produces correct form but consistently, when asked ta

correct his errors he can do so and give a more or less coherent account of the

fule.




2.3. Types of Error

There are many definitions about error and it can lead us into different types

of error. To give a clearer description, we can distinguish error, mistakes, and lapse.

According to Momish {1983:7) there are three types of language deviation that we

should know: error, mistakes, and lapse.

a)

b)

Error: it will occur when a learmer of English as a second or foreign
language makes an error systematically, it is because he has not learnt the
correct form. For example: the use of ‘to’ after auxiliary verb in the
following example:

*I can to speak English’

Inn this sentence, the eror of using ‘to’ after auxiliary verb ocours
because the learner may think that it has the same pattern when we use the
verb intend (+ to), take (+to), ought (+to), etc. Thus, the learner tends to or
congistently produce can + to.

Mistakes: the learner sometimes produces the correct form but sometimes
makes deviation. For example, the leamer will inconsistentty uwse this
sentence: ‘he writes she will to go' but they sometimes use the correct
form: *he writes he will to go’. So, mistake is a non systematic deviation
from the language code indicates incomplete learning. Mistake does not
happen forever or the deviation does not contin uously happen.

Lapse: error sometimes occurs when we do not completely have a good

concentration. It relate to our memory, health, etc. it refers 1w an




inappropriate form caused by slips both slip of tongue and slip of pen.

We often meet the three types of error in our daily life. We may view that the uses
of these terms are sometimes in inconsistent or unclear. These terms show similarly
the inappropriateness of using a language. They seem thal there are no diflerences,
but actually they have basic distinctions.

There are many things which can make error accur: question about it will reply
many answers. According to Richards (1974) there are two types classification al
error, they are Interlingua error and intralingua error.

2.3.1. Interlingua érror

It is caused by the influence or intrusion of the learer’s mother tongue on his
production of the target language. The leamers camy over their speech habit of the
first language into the second language they are learning. This is frequently with the
beginner, They are still lack of knowledge.

According to little wood, Richard et.al. (1985:160) interference is the use of a
native language pattern or rule which leads to an errof or inappropriate form in the
target language. It is the transfer of native language into the target language. But, he
divided the transfer into two kinds of transfer, negative transfer and positive transfer.
Megative transfer is exactly the same with interference and positive transfer is the
transfer which makes learning easier and may occur when both the native language
and the target language have the same form.

2.3.2. Intralingua Errors -

Intralingua errors are those which result from Faulty or partial leamning of the




target language. Belonging to the intralingua crrors are overgeneralization, ignorance

of rules, incomplete application of rules, false concepts hypothesized, Further details
will be explained as follows:
A} Overgeneralization.

On the basis of their experience of the language, the leamer constructs a
deviant structure because of generalizing the rules. They blend the structures
learnt early in the learning sequence. For example: "she must comes". The
learner added final 's' to the verh "come’ {or the third singular subject, but it
is wrong because he over generalizes the rule which states that in the present
there are suffixes for the third singular subject. He does not know that the verb

after modal should be in its simple form, even though it uses third singular

subject.
| B) Ignorance of rules

One of the errors which are difficult to avoid are arising from ignorance of

rule restriction. This kind of error occurs when it involves the construction of
false analogies. Norris (1987:34) explains that “ignorance of rule restriction
leads to the construction of false analogies™. In the other hand, Richards

{1985:175) explains that ignorance of rules restrictions occur when the student

applies the rules to context where they do not apply. For example, when a
student produces the sentence "He made her ery,” and "] asked him go away,”.
In the second sentence, the student applies the rule as the first sentence. He

does not know the differences between the verb followed by infimitive and the

Ll




verb that does not.
) Incomplete application of rules

The learner uses deviant form in order to communicate perfectly, He only
focuses on the fluency not 1o the academic accuracy or o the grammatical
correct sentences, Richards (1987: 177) gives an example below:

Teacher; “ask her where she lives.

Student; “where you {she) live(s)

In the sceond sentence, the studem does not complete the rules. He
should put auxiliary ‘do’ before the second plural subject.

D) False Concept Hypothesized

A wrong understanding to the concept of a language can cause an
error. Student often makes a kind of form in the wrong situetion, For example:

"now Ronaldo takes the ball. Pass it to Adrman....In the sentence, simple

present tense is used in comtext of progressive situation,

Besides, there are still other sources which can cause errors, they are
translation and carelessness.

Translation of the first language into the target language commonly can cause
error. The learner expresses their ideas by manslating word by word of idiomatic
expressions through common communication by discussion and writing. They will
use their first lanpuage when they translate their ideas into the language they are
learning. John Norris (1983:26) gives the example of this. "German speakers, [or

example, may say ‘it makes me nothing out’ (instead of '] do not mind’; 'equals goes a




loose’ instead of 'it is about to start) or the man who [ yesterday saw™

Mext, Carelessness is also one of the causes of error. Student sometimes have

a lack of motivation in learming a language. They do not concentraie to learn the

language. 1t can be caused by their personal factors or the teaching techniques given

by the instructor which do not suit them, such as the style of presentation, the

matenials, or perhaps the class atmosphere.

In addition to the types of error, Jordan (1980):10) also gives his opinion

aboutl twelve comman grrars in writing formal or academic English, They are;

L.

Subject and verb agreement: particularly singular and plural subject with the
correct verb form,
E.g. each first speaker have the obligation to define the motion®.
The use of °s” at the end of the third person singular.
E.g. as consequences rain water flow directly to the rivers*
“This' + singular noun, ‘these’ + plural noun: “other’ and ‘another’
difference.
E.g. this book is cheap.
These books are heavy.
He has another important sights such as the famous tennis court.*
The correct use of uncountable nouns
The correct use of impersonal “it” or “there™.
The confusing use of verb tense,

E.g it will also make the public more interested in the political




practice especially if it was broadecasted on television®.
7. The difficulty of forming past tense of irregular verbs.
E.g the machine is comed from India®,
8. The correct use of negalives.
E.g. | checked the essay for mistakes but couldn’ find none.®
G The formation and use of some of the comparative and superlative forms of
adjectives and adverbs.
E.g. John's essay is more longer than peter’s®
10, The correct use of.
a. Prepositions: E.g it consists on their performance.®
b. Articles: E.g. sun is very hot®.
c. Relative pronouns: E.g. the first Indonesian president, which was an
excellent orator, is well remembered by the Indonesian people®.
d. possessive adjectives: E.g. Debaters are judged by his manner®.
11. Confusion over the choice of vocabulary.
E.g Rainy water will be absorbed into the land.
12. Spelling mistakes
E.g. Cooperation among government, college expert, and Bogor regency to
plan absorption area in order to save Jakarta 15 very important.
Further, Jordan also adds the cause of grammatical errors related to the twelve
grammatical errors above. They are literal translation, difficulty composing long

complex sentence, and tendency of using English as in spoken language.,




First, the biggest cause of errors is probably the translation from the students’
language into English. For example a student of English as EFL may say, "She said
nothing™ into “she nothing spoke™.

It is easy to see that when translating into English, the word order and the
senience struciure could cause difficulties.

The second cause is to make a long complex sentence in writing. [t is caused
by the complication of the sentence and the confusion of the verb tenses.

The last cause is the tendency of producing Enghsh the same way as
speaking. Spoken English is often informal while academic writing tends to be
formal. /

2.4, What is Grammatical Error?

2.4.1 The Definition of Grammar

Grammar is the central part of language which must become the vital
interest to any intelligent educated person, Without it, fault and failure will occur in
using a lngpunage.

Before making definition about grammatical, we should define the definition
of grammar, There are many definitions about grammar but, the writer only takes a few
opinions ahout grammar from any sources. The word ‘grammar” has many meanings.
The writer only takes a few opinions about grammar from any sources. In
the technical sense, grammar denotes the theory for discussing one language, but

grammar can be defined as the knowledge that underlies language use. In addition,

14




individual of language has different grammar that corresponds to their production and
comprehension of the language.

According to palmer (1983:11) "in the widest sense of the tenm, grammar 15
that complex relations. According 1o one definition, the grammar of a language is a
device that ... that specifies the definite set of well formed sentences and assigns 1o
each of them one or more structural descriptions”

While according to Kathryn Riley and Frank parker (1998:2b). “since
grammar is a science, 1l must describe and analyze the basic laets of speech, and
explain and interpret the laws poverning the behavior of language™ House and
Harman, p 11). They further explain that the term of grammar refers to a set of
generalization that describes the building blocks of sentence structure. For example, a
prepositional phrase consist of a preposition (e.g ‘in") followed by a noun phrase
(e.z. the car). It has come to be known as descriptive grammar bul, is also known as
“structural™ grammar. This brand of grammar is essentially linguistic "hotany”---the
classification of phrase and sentences types. The fundamental goal of the descriptive
grammar is to describe the various types of structures found in a specific language.

Sylvia chalkier & Edmund Weiner explain the dﬂi{nitlun of grammar in

Oxford dictionary of English grammar (1594:177).

1. The entire system of a language; including syntax, morphology, semantics and

phonology.

2. Popularly, the structural rules of a language, including those relating to syntax




and possibly morphology, but excluding vocabulary (the semantic system)

and phonology.
3. A book containing rules and examples of grammar (particularly in sense 2).

4. An individual's application of the rules, as in this novel is full of bad

gramianiar,

According to Loreto Todd ([985:6): “A grammar 15 an aitempi 10 describe
systematically what a native speaker intuitively knows. 1 is a listing of the rules of a
language so that we may speak and write it with clanty and precision and hear and
read it with understanding. Our grammar of English will describe words and the ways
in which words interact and combine to form acceptable sentences”.

To master & language, especially English, one has to understand the grammar
of English properly, because making or building a good sentence, grammar plays the
vital role. By using a good grammar in building a sentence, it will make a good order
construction of a sentence. The rules which the grammar provides are usually how the
word changes their forms, and also how they are combined into a sentence or how to
put the words into the right order. For example, the rules which tell us that the word
in singular form can be changed into plural form by attaching final —s or the verb
form can be changed by attaching a final ~ed. There is also a rule which tells us how
to put a phrase into a sentence.

In conclusion, Grammar is a theory of a language which contains rules on

how to construct well formed sentences or it is a deseription of a language. Similarly,

16




our grammar of English here is the theory which we use to describe words and the
ways in which words interact and combine to form accepiable sentences,
2.4.2 The definition of grammatical”,
The term grammatical is an adjective form of the word ‘grammar’. In
the Collin’s English Dictionary, the definition is as follows:
|, Of or relating to grammar
2. (OF a sentence) well formed; regarded as correct and accepiable by native
speaker of the language,
While Sylvia Chalkier and Edmund Weiner (19994:178) explain the term of
grammatical’ in oxford dictionary of English grammar.
1. Relating to grammar, determined by grammar,

In this sense, grammatical is a formal term, relating to form rather than
meaning, as in grammatical category, grammatical collocation, or
grammelical fierarcfy.

2. Conforming to the rules, particularly the syntactic rules: in contrast to
urrgrammaiical.

a) Popularly, sentences and other utterances are grammatical if they obey
the rules of the standard language or, more narrowly, the prescriptive
rules of usage hooks, and ungrammatical if they do not.

h) Grammatical is not synonymous with meaningful; a sentence may
grammatical even though it is nonsensical { e.g. T'was Brillig, and the

slithy toves gyre and gimble in the wabe).




Based on the definition above, the term ‘grammatical” is the adjective form of
the noun ‘grammar’ where we can say thal a senlence is grammatical when It is
formed in keeping with the rules of grammar,

2.4.3, Grammatical error

Based on the definitions of terms above, we can lake a conclusion on what a
grammatical error is in English. Grammatical error is a deviation in language related
to grammar either in phonology, lexis, morphology, or even in syntax and semantic,
In this writing, grammatical error is the violation of rules ol the English grammar. [t
concerns with deviations from the standard use of English which is used in writing o

interact and to combine words to form acceptable sentences.




CHAPTER THREE

METHODOLOGY

The writer uses the following methods o complete the data. They are:
3.1, Method of collecting data

There are two methods of callecting data which the writer uses. In arranging
this writing, the required data are obtined from two sources. They are library
research and feld research.

3.1.1. Library research

In this research, the writer gets theories and information by reading some
thesis, and other books which can support this research and relate to the problems that
are discussed.

There are two libraries which the writer uses to read the related books. They
are library of faculty of letters and library of American Comer in the central library of
Hasanuddin University.

3.1.2. Field research

In this case, to collect the required data, the writer does research in English
department, faculty of letters, Hasaneddin University, students period 2005 who take
the class of English writing 2 { Elu-cl-:ing. System). The students write English essays
for the assignment of English writing class. Then, the collected data will be discussed
or analyzed in subsequent chapter,

3.2. Population and Sample.




To complete this writing, the writer uses the following population and sample:
3.2.1, Population

In this research, the population is the students of English department, period
2005, faculty of Leters, Hasanuddin University. The siudents are in the academic
vear of 2006/2007.
3.2.2. Sample

To collect the required data, the writer takes samples from five students of
English department in the English Writing subject, especially class C. The writer uses
random sampling technigue to select the sample [rom the student of English Wriling
class C.
3.3. Method of Analyzing Data,

In analyzing the data, the writer uses some following steps:
Step |

The five individual assignments of the students are identified and the writer
tries to find out the grammatical errors. Then, the errors in the data are separated and
put in table.
Step 2

After identifying the errors in the data, the writer analyzes them by using
descriptive analysis. The reconstruction of the errors in the sentence follows
afterwards.
Step 3

Finally, the writer tries to specify the most frequent errors after analyzing the




-

data. In addition, the writer also takes conclusion about the student’s grammatical
errors made in wriling by using the classification of the errors.
In conclusion, the classification shows that there are still many grammatical

errors made in wnting by the students.
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CHAPTER FOUR

PRESENTATION AND DATA ANALYSIS

The writer takes the data from the student’s written work on English writing
assignment. The writer collected the data from 5 students of the fourth semester who
take English writing class, faculty of letters, Hasanuddin University, which are used
as the samples of this writing.

In this chapter, the writer discusses the presentation and analysis of data,
Firstly, the writer identifies the errors in table. Secondly, the writer analyzes the
errors by using descriptive analysis. Finally, the presentation of the types of errors

and the most frequent types of error follow aflerwards.

4.1. Presentation of the data
All the errors are identified in the table below, The errors are selected from
paragraphs by separating the sentences which have errors in the paragraphs of the

student’s writing.

Student | Data 1 Furthermore, people’s mind will tum
brilliant when they are alone in some place.
Data 2 When getting some difficulties, you will be
very in a bad way,

Duata 3 You will never know how to make people
understanding of your knowledge. !
Data 4 It is because you are not experienced in it; |
you keep your knowledgze  your self

i Data 5 However, studying in group is also good




Data &

because it gives you such advanlapes as
lack of difficulties.

Then, it is heartily recommended that you
study in group, but if you think studying
alone is better than i, 15 up 10 you.

Student 2

Data 7

[Data B

Data 9

Drata 10

Data 11

Dhata 12

Data 13

America was the first country (the pioneer)
which created the term *  Woman
Emancipation™

They _ considered a lower class in
sociely.

It was the main reason why women in
America wanted to have the same fate with
__men who had _ good one.

Are women in our lovely country having
the same anguish as American women?

It usually arises two different ideas, the
first one is disagreeing and the second one
15 @ETeeing on it.

It can be said thar it is only a political
reason of people who want to have a
position in legislative,

For instance, women now can continue
their studies in university, __ have a
position in  parliament without any
obstruction.

e

Student 3

| Data 14

Data 15

Data 16

Data I7

Data |8

Many people use handpgun as one of __ tool
to protect their selves.

Some people agree to use the handgun
because they think that people can be
protectey] themselves from intruders by
using handgun.

In fact, there are many robbers __ use
handgun or others dangerous tools to
threaten the victims and __ do the crime.
The victims who has not own something to
protect their selves can not do anything and
let the robbers do as well as they want.
From this fact, some people may think to




Data 19

Data 20

Drata 21

Data 22

Data 23

Data 24

own __ handgun __ be a protector for their
selves,

First, it is very dangerous tor the owner and
some people around him, even to children
who do not know anything about the
danperous of the gun.

In many cases, the owners  sometimes
careless _ put the guns on wrong place
that can be reached by children,

According to one article in Fajar newspaper
said that one child was died because he was
shoot by his friend in accidentally.

The owner intends to protect his or her life
but judging in his or her way because he or
she lost in control changes (L

That will be _ contrast with the function
of the handgun itself.

From some arguments above, we can
conclude  from _ accident and _ crime
makes pun ownership difficult to be
accepted because it can be dangerous for
the owner and the people around them.

e

Student 4

Data 25

Data 26

Data 27
Data 28
Data 29

Data 30

Data 31

Data 32

Some people may think that all the
influence from west 15 bad.

_Even, the basic education about sex should
___ accomplish by parents.at home before
their kids turn to society.

Western povernment was foree to think the
solution of these problems.

One of the effort is  do sex education at
home.

As a result, it found were _ be able to
solve the problems.

The rate of sex problem slowly decrease
and the chance of ongoing problem
stopped.

So as in Indonesia, the same problems also
happen and the rate of unwilling pregnancy
and AIDS are getting more and more
ipcrease day by day.

It is because when they heard  word
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Data 19

Data 20

Data 21

Data 22

Data 23

Data 24

own __ handgun __ be a protector for their
selves.

Fiest, it is very dangerous tor the owner and
some people around him, even to children
who do not know anything about the
dangerous of the gun.

In many cases, the owners  sometimes
careless _ put the guns on wrong place
that can be reached by children,

According to one aricle in Fajar newspaper
said that one child was died because he was
shoot by his friend in accidentally.

The owner intends to protect his or her life
but judging in his or her way because he or
she last in control changes (L

That will be __ contrast with the function
of the handgun itself.

From some arguments above, we can
conclude  from _ accident and __ crime
makes gun ownership difficult w be
accepted because it can be dangerows for
the owner and the people around them.

Student 4

Diata 25

Data 26

Data 27
Data 28
Data 29

Data 30

Data 31

Data 32

Some people may think that all the
influence from west i35 bad.

.Even, the basic education about sex should
___ accomplish by parents.at home before
their kids turn to society.

Western povernment was foree to think the
solution of these problems.

One of the effort 15 do sex education at
home.

As a result, it found were _ be able to
solve the problems.

The rate of sex problem slowly decrease
and the chance of ongoing problem
stopped.

So as in Indonesia, the same problems also
happen and the rate of unwilling pregnancy
and AIDS are getting more and more
ingrease day by day.

It is because when they heard  word




1

Data 33

Data 34

Data 35

Data 36

Data 37

Data 38

Data 39

Data 40

Data 41

“sex”, what comes to their mind 15 the
activity of sex which __ believed ___ is
forbidden to do before married.

Moreover, in religions said that sex is not a
sin as long as it is doing afler getting
marmed,

Furthermore, do sex before mamed ofien

leads to abortion and the worst
Second, sex education __ in order 1o give
complete  education  included  basic

information about sex such as “what 1t
SEN Y

Any kinds of diseasc as a consequence of
do sex as have  mentioned above.

I children, especially leenagers, already
has backeround knowledee abhout sex,
hopefully the third purpose will be reach,
They will be able to decide and __ protect
themselves,

Many cases are found that children who go
to study away from home have to back to
their parents.

She went to Makassar to study in college,
___ were back while pregnant.

They should do sex education among
family in order to give the teenagers
complete information about sex which wall
leads them to be able to protect themselves
From the danper of sex problems,

Student 5

Data 42

Data 43

Data 44

Many people inclined to air plane __than
the other public transportation especially
for long distance travel and cross
eountry__,

At 1998, in Indonesia the air plane
passenger during one year was six million
people and it increase at 2006 _ thirty
mitlign people. |
At early 2007, the passenger decreased |
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Diata 45

Data 46

Diata 47

Drata 48

' Data 49

Data 50

Data 5t

| can fly or not.

because of many air plane accidents happen
in 2007.

It was happencd by the air plane that __
over ten years old, even _ fifteen years
old..

One _ example is Adam air plane that __
over fifteen years old was crushed and lost
at January 2007, and Followed by the other
air plane accidents.

Therefore, a couple weeks apo the
government has planned to limils the air
plane age, considering that there was many
accidents happened by the old plane.

The government thinks that after imits the
air plane age the accident will decrease.

In this case, it means that there are 200
commerce plane from 573 planes will be
parked because unusable.

The government should not [imits the air
plane age, but the government should
manage __if the air plane enable or disable
to fly.

It means that the problem __ not in _age
but in __ propemess, whether the air plane

———

4.2 Analysis of Data

The writer uses descriptive analysis in analyzing the data, The reconstruction of

the errors follows in every analysis.

STUDENT 1

Data 1 “furthermore, people’s mind will turn brilliant when they are alone in

some place”. In this sentence, there is only one grammatical error. The noun “place’

which is modified by *some’ should be added a suffix —s. The word “some” should be




followed by plural noun because it indicates an indefinite number which is more than
one entity. Therefore, the suggested sentence should be “furthermore, people’s mind
will turn brilliant when they are alone in some places™.

Data 2: *When getting some difficulties, you will be very in a bad way”. The
sentence has just one grammatical error that is the wrong position of the word “very’,
The word “very” is used to modify the degree of the noun phrase and it is usually put
before the word which is modified. Therefore, the suggested sentence should be:
“when getting some difficulties, you will be in a very bad way™.

Data 3: “You will never know how to make people understanding of your
knowledge. There are two grammatical errors in the sentence, The first is the use of
present participle after the verb *make’. We can not use the present participle if it is
preceded by the verb’ make’. Because the verb which is preceded by ‘make’ is
usually an infinitive verb without “t0”, Besides , the position of the verb "understand’
is a complement which is a casual sense. The second is the use of preposition “of
after the verb, The combination of the verb ‘understanding’ and the preposition *of”
can not eceur in the sentence. They are not combination like “fond of " “capable of”,
etc. Therefore, the correct sentence is: “You will never know how to make people
understand your knowledge”.

Diata 4: *It is because you are not experienced in it; you keep your knowledge
___ vour self”, We can see one grammatical error in the sentence that is the omission
of a preposition before the reflexive pronoun, The reflexive pronoun is placed as the

object of preposition but, it is- without a preposition. In the accusative case, the

7




indirect object or in this case the reflexive pronoun can be preceded by a preposition.

The most appropriate preposition to fill the position is *for’. Therefore, the suggested
sentence should be: “Ii is because you are not experienced in it”; you keep your
knowledge for your self™,

Data 3: “However, studving in a group is also good because it gives you such
advantages as lack of difficulties”. There is one grammatical error in the sentence; it
is the plural noun which is used after the word *such’. It should be in singular form
because 1t does not refer 10 more than one entity. Therefore, the suggested sentence
should be:” However, studying in a group is also good because it pives you such
advantage as lack of difficulties”,

Data 6: “Then, it is heartily recommended that you study in a group, but if
vou think studying alone is better than it, 15 up to you”. The only grammatical
error here is the omission of subject pronoun “it’, The clause is not completed with
subject that makes it not clear. The state of being expressed by the linking verb *is®
has the reference to modify who the person is. To indicate the person which refers to
a thing mentioned before in a sentence, we must use pronoun ‘it’. Therefore, the
correct sentence is: “Then, it is heartily recommended that you study in a group, but if
you think studying alone is better than it, it is up to you™.

STUDENT 2

Data 7 “America was the first country {the pioneer) which created the term

“Woman Emancipation”. Considering the context of the sentence, it should be in the

simple present tense, but it is used in the simple past. One of the uses of present tense




i to say something which is a fact,

The linking verb “was’ refers to a past condition,

not in the present, The structural panem for the suggesied sentence should be: s
+present form of “be’. Therefore, the suggested sentence should be: America is the
first country (the pioneer) which created the term “Woman Emancipation”

Data 8 “They __ considered a lower class in society”. In the sentence, there is
an omitted word afier the subject that is the auxiliary verb. The context of the
sentence 1s simple past in passive sentence but it uses simple past tense verb
‘considered” and without an auxiliary which makes the sentence change into an aclive
sentence. To form the passive sentence, it should use an auxiliary verb after the
subject. The subject of the sentence is a plural third person and the appropriate
auxiliary verb for the sentence is “were”, because it is simple past tense. Therefore,
the suggested sentence should be: “They were considered a lower class in society™

Data 9: “It was the main reason why women in Ameérica wanted to have the
same fate with  men who had  good one™. There are two grammatical errors in
the sentence. The first is the omission of an article to modify the plural noun *men’.
We can identify the plural noun *men” since it refers to the same thing with “women
in America’. It can be identified which men are referred to. The word 'men’ refers to
‘men in America’. So, the plural noun can be identified because it has a reference and
it should use article “the’ .The second is similar with the first one. The noun phrase is
not preceded by an indefinite article because the noun phrase does not indicate to a
known person, The appropriate indefinite article to put before the noun phrase is

indefinite article “a’ because according to Azar (1993:A20) “indefinite nouns are

o
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actual things (not symbols), but they are not specifically identificd”. Therefore, the
suggested sentence should be: “It was the main reason why women in America
wanted to have the same fate with the men who had a good ane™,

Data 10: "Are women in our lovely country having the same anguish as
American women™? The context of this sentence is not present progressive lense, but
the most appropriate is simple present tense, The sentence is an interrogative senlence
and it should use auxiliary ‘do’ to form the interrogative form. Clearly, the first
grammatical error here is the use of awaliary ‘are”. Then, the second is the use of
present participle verb. The verb used after the subject should be in the simple present
that is "plural present tense verb’ because it uses third plural subject. Therefore, the
suggested sentence should be: “do women in our lovely country have the same
anguish as American women?"

Data 11:*Tt usually arises two different ideas, the first one is disagreeing and
the second one is agreeing on it”, The context of the sentence does not express a
process which is continuing but to express a process in simple present. So, the first
grammatical error is the use of present participle verb after the auxiliary verb. The
element of the sentence afier the auxiliary verb ‘is’ is subjective complement An
infinitive verb can fill the position of the complement. Infinitive which comes after an
auxiliary verb must use an infinitive with “to”. The second one is similar with the first
ane. The sentence 15 8 simple present tense which expresses a process. The verb
which should be used in the sentence is infinitive verb with to, not present participle

verh. When an infinitive verb is preceded by an auxiliary verb ‘be’ or in this case, the

i
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auxiliary verb ‘is’, should be followed by infinitive with ‘to’. Therefore, the
suggested sentence should be: “It usually arises two different ideas, the first one is 1o
dizagree and the second one is to agree on it™

Data 12: "It can be said that it is only a political reason of people who want 1o
have a position in legislative”, In the sentence, it has only one grammatical error that
i the wrong use of the present tense verb. The adjective clause of the sentence uses
relative pronoun “whao® which is a first singular subject. The verb used to make an
agreement between the subject and the verb should be an inflecied present verh or in
other words, the present tense verb afier the relative pronoun should be added sulTix -
5. Thus, we need to correct the sentence into: “it can be said that is only a political
reason of people who wants to have a position in legislative”,

Drata 13: “For instance, women now can continue their studies in university;
__ have a position in parliament without any obstruction”, There is only one
grammatical error in the sentence, the omission of the subject. The sentence is not
completed by a subject to modify the agent of the action. Referming to the first clause,
it uses a third plural subject .So, the second clause should be parallel with the first
one and of course, it should use the same subject with the first one or in this case, the
subject should be “women’. To make a good sentence, the subject “women’ can be
replaced with personal pronoun “they" because the person refers to plural third

person. In brief, the suggested sentence should be: “For instance, women now can

continue their studies in university; they have a position in parliament without any

obstruction”
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STUDENT 3

Data 14:" Many people use handgun as one of __ toals to protect their selves.
There are two grammatical errors in the sentence; they are the omission of the article
and the wrong use of the reflexive form. The plural noun does not use an article. An
article should be used to determine that the plural noun is identifiable or in this case,
the appropriate article is “the’ because it refers to a specific thing, because according
to Azar (1193:A20)"A noun is indefinite when both the speaker and the listener are
thinking about the same specific thing”, Next, the form used in the reflexive pronoun
is not correct but, the correct one is ‘themselves'. As a result, the suggesied sentence
should be: “Many people use handgun as one of the tools to protect themselves.”

Data 15: “Some people agree to use the handgun because they think that
people can be protected themselves from intruders by using handgun”, In the
sentence, the context is in active sentence but, it uses active form of the verb. In this
case, the grammatical emrors are the use of the verb ‘be’ and the past participle. To
form the active sentence, the verb used should be in present tense verb and it 15 not
preceded by the verb “be’. What comes after the modal should be the noun infinitive
without “to”, because modals are usually followed by infinitive verb without “to”. In
brief, the suggested sentence should be: “Some people agree to use the handgun

because they think that people can protect themselves from intruders by using

handgun.™
Data 16: “In fact, there ane many robbers __ use handgun or others dangerous

tools to threaten the victims and do the crime”. There are two grammatical errors in
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the sentence. The first is the omission of subject in adjective clause. The appropriate
subject is a subject pronoun, The correct subject pronoun for the adjective clause is
‘who' because the adjective clause modifies the plural noun “robbers. According 1o
Azar (1993), “who', *which’, and “that” are subject pronouns for adjective clause. The
second grammatical ermor in the sentence is the use of infinitive without *10”. In the
sentence, it should wse infinitive with "1, because it is preceded by the verb *use’.
Therefore, the suggested sentence should be: In fact, there are many robbers whao use
handgun or others dangerous tools 1o threaten the victims and do the crime”,

Data 17: “The victims who has not gwn something to protect their sefves can
not do anything and let the robbers do as well as they want”. There are three
grammatical errors in the sentence. The first is the wrong use of auxiliary verb form
*have’. The sentence uses a singular form of auxiliary "have'. The auxiliary form used
in the suggested sentence should be in plural form because the subject *vicims® 18
third person plural subject. The second i5 the use of present tense verb after the
aur::itial}r vert ‘have’. The auxiliary verb “have’ which is used to help the main verb
must be followed by past participle verb. The third is the spelling of “their selves’.
The correct form of the reflexive is ‘them selves’. Therefore, the suggested sentence
should be: “The victime who have not owned something to protect them selves can
not do anything and let the robbers do as well as they want”,

Data 18" From this fact, some people may think to own handgun __ be a

protector for them selves”. The sentence has one grammatical error; that is the use of

infinitive without ‘to’. The verb “be’ should be followed by “to”. In brief, the

33




EUEHEStﬂd sentence should be" From this fact, some people may think to own

handgzun 1o be a protector for them sl

Data 19: “First, it is very dangerous for the owner and some people around
him, even to children who do not know anything aboul the dangerous of the gun”.
The grammatical error in the sentence is the form of the word “dangerous”,
“Dangerous’ is an adjective and it can not be used without a noun which it modifies
The noun form of *dangerous” is “danger’. In brief, the suggested sentence should be:
“First, it is very danperous for the owner and some people around him, even 1o
children who do not know anything about the danger of the gun™,

Data 20: “In many cases, the owners  sometimes careless  put the guns on
wrong place that can be reached by children”. [n the sentence, the grammatical errors
are the omission auxiliary verb “be’ and the use of infinitive without to. The sentence
uses third person plural subject and it should be followed by an auxiliary verb "be’ in
its simple present form. In this case, to link the subject and the complement, the
plural form of present verb of the auxiliary ‘be’ should be put after the subject, which
is ‘are’, Then, the verb form used after the adjective in the sentence is infinitive verb
without “to’ but, it should use an infinitive with to. One of the uses of infinitive with
to is used after auxiliary ‘be’. Therefore, to correct the sentence, it should be put™ In
many cases, the OWners are sometimes careless to put the guns on wrong place that
can be reached by children™,

Data 21: “According to one article in Fajar newspaper said that one child was

died because he was shoot by his friend in accidentally”, In the sentence, there are
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two grammatical errg ' : .
8 s which occur in the adjective clause and in the second

sentence. In the adjective clause, the word form used afler the auxiliary ‘was’ is a

verb form but, it should be a noun form. The appropriate form used to fill the

subjective complement should be a noun form, The noun form of *died” is “dead”. In
the next clause, it also relates o the word form. The present tense verb used after the
auxiliary verb is wrong. To form the passive simple past, the structural pattern must
be: was + past participle. In this case, the past participle form of the verb *shoot’ is
‘shot’ because, it is an irregular verb. Thus, the suggesicd sentence should be:
“According to one article in Fajar newspaper said that one child was dead because he
was shot by his friend in accidentally™.

Data 22: “The owner intends to protect his or her life but judging in his or her
way because he or she lost in control changes it™. In the sentence, there are two verbs
occur. The first verb is a past tense verb and then the second one is followed by a
present tense verb. A present tense verb can not be followed by a past tense verb. The
appropriate verb which can follow the past tense verb 15 an infinitive with to.
Therefore, the suggested sentence should be:™ The owner intends to protect his or her
life but judging in his or her way because he or she lost in control 1o change it™,

Data 23 That will be __ contrast with the function of the handgun itsell”. In

the sentence, there is only one grammatical error. The preposition is omitted in the

combination word of *contrast with’. The word “contrast with’ should be preceded by

preposition “in’ to complete the combination. In short, the suggested sentence should

be: “That will be in contrast with the function of the handgun itself"
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Data 24: “
From some arguments above, we can conclude __ from accident

and crime makes gun ownership difficult 1o be accepted because it can be dangerous

for the owner and the people around them™ [n this sentence, there are two

grammatical errors. The first is the relative pronoun is not put to relate the adjective
clause of the sentence. The sentence should contain z relative pronoun to connect the
clause. The appropriate relative pronoun to relate the relative clause is ‘that”, because
according to Azar (1993)" ‘who', *which’, and ‘that’ are subject pronouns for
adjective clause”. The second is the verb does not make an agreement with the
subject. The verb “makes’ is a first singular verb while, the subject used in the
sentence is third plural subject. If a subject in a sentence uses a plural subject, the
verb which follows the subject must be in plural, too. Therefore, the suggested
senience should be: “From some arguments above, we can conclude that from
accident and crimes make gun ownership difficult to be accepted because it can be
dangerous for the owner and the people around them™,
STUDENT;!-

Data 25:"Some people may think that all the jnfluence from west is bad”.
There are two grammatical errors in the sentence. The first is the noun maodified by
‘all’ is mot in plural form. ‘All" does not make an agreement with a singular noun.
The noun which it modifies should be in plural form, To form the plural noun of the
word modified by “all’, it is commonly added a suffix 5" in the singular noun. In this

influence” should be added with suffix -s. The second is the

case. the word

disagreement of the verb with the subject The: veeb. yred. i e Fenleice: s B0
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make agreement with the subject. The subject is a plural noun while, the verb is in
present singular verb. In simple present tense, if the subject is plural, the verb should
be plural, too. To make an agreement between the subject of the sentence with the
verb, the auxiliary verb ‘be’ should be changed into its plural form. The plural form
of the auxiliary verb ‘is’ is ‘are’. Therefore, the suggested sentence should be:” Some
people may think that all the influences from west are bad”.

Data 26: “Ewven, the basic education about sex should _ accomplish by
parents at home before their kids turn 1o society™. In the sentence, the grammatical
errors are the omission of the auxiliary “be and the verb form of the passive sentence.
The first is the omission of the auxiliary “be’. In passive sentence or in this case, the
past participle verb is usvally preceded by auxiliary *be’. The structural pattern
should be: modal + be + past participle. The last is the wrong use of the main verb.
The context of the sentence is a passive sentence while, the verb used is in active
form, To form the passive sentence, the verb should use past participle verb afier the
auxiliary verb. Thus, the correct sentence should be: “Even, the basic education about
sex should be accomplished by parents at home before their kids tumn to society™

Data 27 “Western govermment was force to think the solution of these
problems™. The grammatical error in the sentence is the present tense verb which is
used after the auxiliary be ‘was’. A simple present verb never occurs after an
auxiliary verb “he’, but the verb which may come afler the auxiliary is a past
participle verb which functions as an adjective. In this case, the verb “force’ is

replaced with the past participle form *forced’. Thus, the suggested sentence should
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be: “Western government was forced to think the solution of these problems".

Data 28: “One of the effort is __ do sex education at home™. The singular
noun and the omission of “to’ of the infinitive verb show the grammatical errors of
the sentence, The noun used in the sentence which is modified by “one of" should be
in its plural form, not in singular form, It is same with the word ‘all’ because it also
refers to more than one entity which indicates that it is & plural number. To form the
plural form of the noun *effort’, it can be attached a suffix -5* in the singular noun.
Then, the verb used afier the auxiliary ‘is” is a present tense verb. The present tense
verb can not occur after the auxiliary *be’ but it should be a noun-infinitive with to.
Therefore, the suggested sentence should be: “One of the efforts is to do sex
education at home”,

Data 29:" As a result, it found were  be able to solve the problems”. There
are three grammatical errors in the sentence. The first is the wrong position of the
main verb. The context of the sentence is simple past tense in passive form. In passive
form, the position of the main verb should h-e put after the auxiliary verb. The second
is the use of plural form of the auxiliary ‘be’. The subject is singular and it should use
plural verb. The third is the omission of ‘to” before the verb "be’. Infinitive with “to”
is usually used in the position of complement. Therefore, the suggested sentence
should be=" As a result, it was found to be able to solve the problems™.

Data 30 “The rate of sex problem slowly decrease and the chance of ongoing

sroblem stopped. There are three grammatical errors in the sentence. Two of them

have the same error, They are the use of singular form in the context of plural form.
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The noun “problem’ is a singular noun while, the context of the sentence, the noun
should be a plural. The plural form of the noun can be formed by attaching a final -5
in the singular nouns. The last is the use of present simple verb in the context of past
tense. The context of the sentence is a past tense and it should use past tense verb, To
form the past tense verb of ‘decrease’, it should be attached a final -ed” in the main
verb because it is a regular verb. Thus, the correct sentence is: “~The rate of sex
problems slowly decreased and the chance of angoing prohlems stopped”™.

Data 31: *S0 as in Indonesia, the same problems also happen and the rate of
unwilling pregnancy and AIDS are getting more and more increase day by day”. [n
the sentence, there are two grammatical errors. The first is the use of simple present
verb while, the context of the sentence is a past tense. The sentence should use past
tense verb, The past tense form of the verb "happen” is ‘happened” because it 15 2
regular verb. The second is the use of simple present verb after ‘more’. The word
used afier *more” should be an adjective, not simple present verb. The adjective form
of a;ile verb ‘increase’ is “increasing’ because it is a present participle which can
function as an adjective.” Thus, the supgested sentence should be: “So as in
Indonesia, the same problems also happened and the rate of unwilling pregnancy and
AIDS are getting more and more increasing day by day™.

Data 37- “It is because when they heard __word “sex”, what comes o ther
mind is the activity of sex which __ believed ___ is forbidden to do before married.
There are three grammatical emors in the sentence, The first is the omission of article

before the noun “word’. Article ‘the’ should be put before *word" because it refers to

39




o

—_—rr— E—— f

a specific thing, The second 15 the omission of auxiliary verb in the adjective clause,

The relative pronoun “which® should be preceded by an auxiliary verb because the
clause is in passive form. The appropriate auxiliary verb belore the past participle is
‘is” because the subject relative pronoun is singular, The last is the omission of
relative pronoun ‘that” and the subject pronoun "it’. To connect the clause, it should
use relative pronoun and then it is followed by a subject pronoun. Therefore, the

suggested sentence should be:” It is because when they heard the word “sex”, what

comes to their mind is the activity of sex which is believed that it is forbidden 10 do

before mamied”,

Data 33: "Moreover, in religions said that sex is not a sin as long as it is doing
after getting marned”. The present progressive verb used in the sentence shows the
grammatical error. The context of the sentence is not a progressive tense in active
sentence, but it is a simple present tense in passive sentence. To form the passive
sentence, the verb used should be in past participle verb after the auxiliary “be’. The
participle form of the verb ‘dnr:iﬁ *done’ because it is an irregular verb. Therefore, the
suggested sentence should be:” “Moreover, in religions said that sex is not a sin as
long as it is dong after getting married”.

Data 34:" Furthermore, do sex before mamed often leads to abortion and the
worst ™ The grammatical errors of the sentence are the use of the present tense

verb ta fill the subject position and the omission of noun after the superlative. A

present tense verb can not fill the subject position, In the sentence, the infinitive with

‘to” can fill the subject pnsitiun of the verb. Then, there is not noun after the
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superlative adjective of ‘worst’. The word "worst should be followed by a noun
which it modifies. In the senlence, there is a noun reference which can be put afier the
superlative. The context of the sentence tells s about the effect caused by doing sex.
So, the apprapriate noun which should be put after the superlative is “effect’. In brief,
the suggested sentence should he “Furthermore, to do sex before married often leads
1o abortion and the worst effect™,

Data 35:"Second, sex education __ in order to give complete education
included basic information about sex such as “what it sex™ There are two
grammatical errors in the sentence. The first is the omission of auxiliary verb after the
subject. To link the subject and the complement, a linking verb should be put after the
subject. The appropriate one is the auxiliary verb *is* because the subject is singular.
The last is the omission of auxiliery ‘be’ to form the interrogative sentence.
Therefore, the suggested sentence should be:™ Second, sex education is in order to
give complete education including basic information about sex such as “what is sex™?

Data 36:"Any kinds of disease as a consequence of do sex as have
___mentioned above, There are three grammatical errors in the sentence. The first is
the number in the noun. It is in the singular form while, the noun s modified by the
word' any kinds of’. The noun form used after the word “any kinds of" should be in
plural form because it rafers to more than one entity. In other words, the noun should
be ended with a final -5 to form the plural. The second is the verb used afier the
preposition ‘of is simple present verb, but it should be a gerund. Gerund is & mixture

of verb and noun. The form is same as the present participle but they actually have
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different function. The gerund in the sentence i as a verb which is used transitively

to fill the object of the preposition. The last is the omission of auxiliary ‘be”. The

context of the clause is a present perfect tense in passive sentence. After the auxiliary
“have’, it must be followed by the past participle form of *be” or the structural pattern
used to form the passive clause should be: have +been +past participle, Therelore, the
suggested sentence should be put:” Any kinds of diseases as a conscquence of doing
sex as have been mentioned above”,

Data 37:" If children, especially teenagers, already has background knowledge
about sex, hopelully the third purpose will be reach™ There are two grammatical
errars in the sentence. The first is the use of the verb which does not make an
agreement with the subject. The subject of the sentence is a plural noun and it should
be followed by a plural verb, because a verb which comes alter a subject must have
the same person. In this case, the singular verb ‘has” should be in its plural form, that
is *have’. The second is the verb used to form the passive clause. The verb “reach’ 15
an active present tense verb, while the context is passive simple future tense. The

form of simple passive verb form should use past participle verb or the structural

pattern is: will+ be+ past participle. Therefore, the supgested sentence should be.™ If
children, especially teenagers, already have background knowledge about sex,
hopefully the third purpose will be reached”

Data38:" They will be able to decide and _ protect themselves”, There 15 only
one grammatical error in the sentence. In the qualifying infinitive, it doss not use *to”.

Infinitive with “to” is usually used after auxiliary “be’. In brief, the suggested sentence
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should be:™ They will be able g decide and 1o protect themsel ves”

Data 39"
a 39" Many cases are found that children wha g0 to study away from

h : "
hl]ll‘lﬂ H-"I'E tﬂ M tﬂ thEH- J.'HHEI'IIE = Th.e Eﬁﬂtﬂ"ﬂﬂ hﬂs -ﬂn[}r one Emmmmical EImar.

The preposition ‘back to® should be followed by a simple verb because it is a
combination word which muyst occur with a verh, The appropriate verb used before
the preposition is “to go' because ‘back 1o’ indicates ‘return’. Therelore, the
suggested sentence should be:” Many cases are found that children who go to study
away from home have 1o go back to their parenis™.

Data 40:"She went to Makassar to study in college,  were back while
pregnant”. There are two grammatical ervors in the sentence, The second sentence
should be followed by a conjunction to fill the position between the two sentences,
The appropriate conjunction is ‘but’ because the sentences indicates a contrast, Then,

the auxiliary verb used is in its singular form, but it should be in plural form because

the subject is plural. Therefore, the sugpested sentence should be:™ She went to

Makassar to study in college, but were back while pregnant™,

Data 41:"They should do sex edecation among family in order to give the
teenagers complete information about sex which will leads them to be able to protect
themselves from the danger of sex problems”. There is only one grammatical error in
the sentence. The present tense verh can not occur after the auxiliary ‘will” but it
should be an infinitive without ‘to’. Therefore, the suggested sentence should be:”
They should do sex education among family in order to give the teenagers complete

information about sex which will lead them to be able to protect themselves from the
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danger of sex problems™

STUDENT 5

Data 42:"many people inclined to air plane _ than the other public
transportation especially for long distance travel and cross country . There are two
grammatical errors in the sentence. The first is the omission of adjective ‘more”. The
word “than’ always ocours with more. The second is the omission of the noun after
the word it modifies. The word “cross country’ is a noun phrase but function as an
adjective which modifies a noun. The word “cross country” should be lollowed by
‘travel” because ‘travel” is the previous noun mentioned which indicates the same
reference. Therefore, the suggested sentence should be:™ “many people inclined to
air plane more than the other public transportation especially for long distance travel
and cross country travel™

Data 43:"At 1998, in Indonesia, the air plane passenger during one year was
six million people and it increase at 2006 __ thirty million people. There are six
grammatical errors in the sentence. The first is the simple preposition used to show
the year. Simple preposition ‘at’ is not correct 10 show a year bul it 15 usually used to
show a place. The most appropriate preposition to show a year is preposition “in’.
Next, the noun *million’ is used in its singular form while, it is modified by the word
“gix". The word modified by *six” is always a plural noun, the same as the word “all’.
it should be formed in its plural form because it refers to more than one thing, To
agree the number between the noun *million’ and the word “all” which modifies it, the

noun ‘million” should be added a final -5 to make it plural. Then, in the second clause
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of the sentence, the tense of the verb is not comrect because it uses present tense verb

while, the context is simple past tense, The appropriate tense of the verb should be a

past tense verb. The past tense verb for *increase” is formed by adding a final -ed’ in
the main verb because it js g regular verb. The next is the same as the choice of
preposition used in the first. The preposition *al’ is not correct to show a year, but the
mast appropriate is preposition ‘in’. The next is the omission of the infinitive verb ta
fill the position of the complement. The last is the same as the second error.
Therefore, the suggested sentence should bhe: “in 1998, in Indonesia, the air plane

passenger during one year was six millions people and it increased in 2006 to be

thirty millions people”,

Data 44:"_At early 2007, the passenger decreased because of many air plane
accidents happen in 2007, There are two grammatical errors in the sentence. The
first is the use of preposition “at” before the year, Preposition “to’ be usually used to
indicate a place, not a year, The most appropriate preposition to indicate a year is
preposition ‘in". The second is the use of present tense verb. The context of the
sentence is simple past tense. The verb “happen’ should use its past tense form.
Therefore, the suggested sentence should be: “in early 2007, the passenger decreased
because of many air plane accidents happened in 2007™.

Data 45" It was happened by the air plane that __ over ten years old, even __
fifieen years old”, There are four grammatical emrors in the sentence. The first is the
use of auxiliary ‘was’. The context of the sentence is nod in passive fonm but, in

active form. In the sentence the past tense verb can not be preceded by an auxiliary to
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form the active form. The second is the wrong use of preposition ‘by” to indicale
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auxiliary verb after the relative pronoun “that’. In the clause, it should contain a

predicate after the subject. In this case, the predicate should be an auxiliary verb ‘be’,
The last is the same as the second one, Therefore, the suppested sentence should be:™
It happened 1o the air plane that is over ten years old, even 1o fifteen vears old”,

Data 46:"One _examples is Adam air plane that __over fifieen years old__
was crushed and lost al_January 2007, followed by the other air planc accidenis”,
There are four grammatical errors in the sentence, The first is the omission of
preposition ‘of” and definite article “the’ as the parts of the word combination. The
second is the omission of auxiliary verb. The relative pronoun subject should be
followed by a predicate that is auxiliary verb. The third is the use preposition ‘at’ lo
show the month. Preposition ‘at’ is usually used to show a place. The most
appropriate preposition to show the month is “on’. The last is omission of subject
relative pronoun to connect the adverb clause. The adverb clause should have a
subject relative pronoun because it 15 followed by a predicate. Therefore, the
suggested sentence should be:” One of the examples is Adam air plane that is over
fifteen years old which was crushed and lost on January 2007, followed by the other
air plane accidents”. |

Data 47-" Therefore, a couple weeks ago the government has planned to limits

the air plane age, considering that there was many accidents happened by the old

5 the use of

olane” There are three grammarical errors in the senience. The first i
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present tenge T e
form nl‘auxlijaq.r has” in the context of past tense. The context of the

senience is § y
N the past perfect tense and it should use past tense form of the auxiliary

‘has™. T I s
he past tense of auxiliary “has’ is *had", The second 15 the use of present tense

verb after the auxiliary verh, The Present tense verb can not occur afler the past

participle, but infinitive with "lo” can. The last is the use of past tense auxiliary verb

"be’ in its singular form, T Be number of the subject nnvin is plural and it should use
Plural form in the main verb, Therefore, the sugpested sentence should be:”
Therefore, a couple weeks %0 the government had planned to limit the air plane age,
considering that there were many accidents happened by the old plane™

Data 48 The government thinks that afer limits the air plane age the
accident will decrease™. There is anly one grammatical error in the sentence. The use
of present tense verb after the preposition “afier” is wrong. The verb which comes
after a preposition should be a gerund. Therefore, the sugpasied sentence should be:™
The government thinks that after limiting the air plane age, the accident will
decrease™,

Data 49:"In this case, it means that there are 200 commerce plane from 573
planes will be parked because unusable™ There are three grammatical errors in the
sentence. The first is the use of the noun “‘commerce” to modify the noun “plane’. The
word which can modify the noun ;p]ant’ should be an adjective form that is the
adjective form of the word ‘commerce’, The adjective form of the word "commerce”

is “commercial’. The second is the use of singular noun ‘plane’ afier the definite

cardinal number *573". The word which is madified by a definite number and it refers
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to more than o e o
ne thing should be jn jig plural fori. The last is the inappropriate use

of preposition *from’
M 1o show the possessive case, Possessive case usually uses

reposition “of s
preposition “of” to modify a noun Therefore, the suggested sentence should be:™ In

thie :
15 Case, 1 means that there are 200 commercial planes of the 573 planes will be

parked because unusable”

Data 50:" The government should not limits the air plane age, but the
government should manage i the air plane _ enables or disable to fly”. There are
three grammatical errors in the sentence. The first is the use present tense form afier
the auxiliary *should”. The present tense verb can not oceur after the auxiliary
‘should” but, it should use infinitive verh without “10°, The second is the omission of
object after the transitive verb. Transitive is always followed by at least one object.
The word which can fill the position of the object should be pronoun “it’. The
pronoun “it’ refers 1o object of the first sentence. The third is the omission of present
auxiliary verb ‘be’ after the subject. The auxiliary "be” should use i singuiar form
because the subject is singular. Therefore, the supgested sentence should be:™ The
government should not limit the air plane age, but the government should manage it if
the air plane enable or disable 1o fly.

Data 51-"It means that the problem _ not in _ age but in _ properness,
whether the air plane can fly or not”. There are three grammatical errors in the
sentence. The first is omission of verb. The subject should have a predicate. The
linking verb to connect the complement with the subject. The

predicate should be a

second and the third share the same error because both of them do not use article “the’




dentifi 1
to identily the noyn, Thel‘uf'ﬂﬂ:. the: sugpested sentence should be:™ It means that the

problem is not in the age but in the propemess, whether the air plane can fly or not™,

Based on t :
on the analysis above, the result of the analysis has shown that there

A pes of grammatical errors and the most frequent type of grammatical

errors made in the cssays by the student of Eniglish department, period 2005, faculty
of letters, Unhas. The cssays are the assignment of writing of the five students who
take writing class,
1). the Types of Grammatical Errors
2) Error in using subject verb agreement

This error occurs because there is no an agreement between the subject and
the verb. When a sentence uses a singular subject, the verb should use a singular verb.
When the sentence uses a plural subject, it should use plural verb. Howewver, in the
sentence, for example: “if children, especially teenagers, already has background
knowledge about sex, hopefully the third purpose will be reached”, there is not
agreement between the subject and the verb. The student uses the wrong form of the
verb *has’. The sentence should use plural verb form because it uses plural subject.
The ferm of the plural verb of *has’ is ‘have’. The student makes this type of error

because the sentence does not make subject verb agreement,

b) Error in using number agreement.

Error in number agreement occurs because there is nol agreement between the

noun and the word which modifies the noun. A noun uses its plural form when it is

modified by word which refers to more than one entity. The form of singular noun
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should be anached by suffix 5 1o make it plural. In contrast, the student still use the
wrong form of the noun in their sentence when the noun is misdified by such a5 “all.
‘some’, etc. for example, in the sentence: “furthermore, people’s mind will tum
brilliant when they are alone in some place™, The error of this sentence is the use of
singular noun afler the word *some’. However, the noun should be in plural form
because it is modified by the word *some’.

¢) Error in using verb tense

This ermor occurs because the student does not use the correct verb in their
sentence. The student often use verb without paying attention to the comtext of their
sentence. They use present tense verb in the context of past tense and vice verse,
They also sometimes use gerund instead of using infinitive,

There are various tenses used in the student’s sentences. This leads to an error
in using tense. For example, instead of using simple present tense, they use present
progressive tense. In the following sentence, the student uses present progressive
tense in the context of simple present tense:

“Are women in our lovely country having the same anguish as American women™?
The error of this sentence is the use of present progressive tense in the context of
simple present tense. Therefore, the sentence should use the present tense verb.

d} Error in using infinitive verb

The form of -infimtive 15 usually followed by “to’ and without “to’, In the
student’s writing, the students make error. They sometimes use infinitive with “to’

while the rule should be followed by “to”. For example, in the following sentence, the
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that can be reached by children™
The error of the senrence 's the omission of ‘o’ to form infinitive verb ‘put’,
Clearly, the verb *put” should be followed by ‘ta” because it is preceded by auxiliary
verb “are’.
e} Omitting Verb
In this case, the studenis often omit auxiliary verh, In the student's writing,
they use active and passive sentence. They do not use auxiliary verb to form both
sentences. In passive sentence, they omil auxiliary verb which turns the context of the
séntence into active sentence. For example, in the following sentence, the student
omits auxiliary verb ‘were"
“They __ considered a lower class in society™,
The omission of the auxiliary verb in the sentence causes error and of course turns

the context of the sentence into active semteance, while the context is active sentence.
In' short, when the verb the sentence is omitted it will lead to an error and twm the
Context.
f) Omitting Subject

When a sentence does not have a subject it will be confusing and create an
error. Moreover, subject is essential element of a sentence. In the student’s writing,

there are some subjects which are not put to build their sentences. For example, in the

following sentence, it should use subject:
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“For instance '
» Women now can continue their studies i university; _ have a
POSILON in pariament without any obstruction"
The senten J '
e should be put subject to madify the doer of the action expressed the

verh ‘have” ' :
“‘Efﬂfﬂrﬂ, the subject which can fill the position can refer to the seme

subject in the firs sentence,
8) Omitting preposition

In this case, the preposition is used to modify a noun phrase. In the student’s
writing, there is a preposition omitted when it should be used to modify & noun. For
example, in the sentence: “It is because you are not experienced in it; you keep vour
knowledge _ your self”, the reflexive pronoun, should be followed by a preposition,
that is preposition *for’.
h) Omitting Article

Article is one of the determiners which are used to modify a noun. [t can be a
definite article and indefinite article. In the student’s sentence, the students do not put
the articles, either “a’ (indefinite article) or ‘the’ (definite article) to modify a noun,
For example: "It is because when they heard  word “sex”, what comes to their mind
are the activity of sex which is believed that it is forbidden to do before married™.

Before the noun *word”, it can be followed by definite article “the’. Therefore, the
student makes error by omitting an article.
i) Omitting conjunction

This error occurs when the student does nol use conjunction to join the

e The conjunction omitted does not make the sentence clear. For example:




' _ in collepe, __were back while pregnant. It is not
.nl Omit the conjuncign because the sentence indicates something that is
contradiction, Therefore, the sentence should yse g conjunction to connect the two
sentences. The appropriate conjunction used 1o indicate sormething: sontradiction i
“but”.

j) Omitting noun

This error occurs when the noun is not put before the modifier. For example;
many people inclined 1o air plane more than the other public transportation especially
for long distance travel and eress country . In this sentence, the noun is nol put to
indicate the thing which is modified by the word *worst’.

k) Gerund

Error in gerund occurs when the student do not use the pattern of forming
gerund that is used after preposition. The students do not use the correct form. For
example, the form of gerund can be used after preposition, but in the student writing,
they do not use the correct form such as in the following example:

“The government thinks that after limits the air plane age the accident will

decrease™.

In the sentence, the student makes error by using present tense verb after

preposition ‘after’. However, it should use gerund because gerund occurs after

preposition.
1) Word form

This error occurs because the students do not use the correct form of word, For
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example: “First_ it i
ple: “First, it is very dangerous for the owner and some people around him, even

1o children who do neg know anything about the dangerous of the gun™. The word
“dangerous’ is an adjective form which i not correct used without a noun it modifies.
However, the word used before the principal noun should be the noun form of
dangerous, that is ‘danger’.
m) Preposition choice

In the student’s writing, there are incomrect uses of prepositions. For example: “Al
early 2007, the passenger decreased because of many air plane accidents happen in
20077, In this sentence, the preposition used to indicale vear is not correch
Preposition “at’ is usually used to indicate place not a vear However, the correct
preposition used to indicate year is *in”,
n) Passive

In the student’s writing, the verb used in the passive form is not correct. For

example: Even, the basic education about sex should  accomplish by parents at
home before. This sentence is not complete because there is not auxiliary “be’ and the
verb used is not past participle to form ils passive. In passive sentence, the verb form

is always past participle. Therefure, the error is the incomect use of passive.

o) Word order
the wrong word order can be seen in the following sentence: “When getting

some difficulties, you will be very in a bad way”. The place of the word *very” 15 not
right. Tt should be put after the determiner or after the article “a” because modifier is

put after a determiner. Therefore, the place of the word *very” is not correct.




the student’s WrIting, it seems

In conclusi e
son, after classifyi ng all the types of grammatical emors occurred in

that there are still many tvpes of error made by the

student of English department, faculty of letters, Hasanuddin University.
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verb. All of the types of grammatical error and the number of error are shown in the

following 1able:

Mo,

Types of grammatical error

Mumber of error

11
12
13
14

Subject Verb agreement
MNumber agreement
Verb Tense

Infinitive Verb

Omitting Auxiliary Verb
Omitting subject
Omitting preposition
Omithing conjunstion
Omitting noun

Gerund

Word form

Preposition choice
Passive

Word order

6 (Data 12,17,24,25,37,40)

9 Drata 1,5,25,30 2x,36,43 2x 49)
7{Data9,10,30,31,43 44.47)
14(Data3, 11

2, 15,16,1820.22 2829 34 38 41 47 48)
2 (Data 8,20,32,35, 2x,45 46.51)
4 (Data 6,13,16,32)

3 (Data 4,23 45)

! (Data 40)

3 (Data 34,42,50)

2 (Data 36 48)

5 (Data 14,18,19,21,49)

5 (Data 43 2x.44,46 49)

7 (Data 21,26,27,29,33,36,37)

| (Data 2) '
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CHAPTER FIVE

CONCLUSION AND SUGGESTION

Based on the ang| ¥sis of the writing which has been presented in the preceded

chapter, the writer would (i
- Id like 1o draw a conclusion on the grammatical errors made

Bic g
y the student of English Department, Faculty of Letters, Hasanuddin University. The
suggestion also follows afierwards.

5.1. Conclusion

After analyzing all the writing assignment of the student which is taken as the
sample of this writing, the writer would like to conclude thar:

[. Most of the students still make many grammatical errocs in their sentences.
They still have a lot of problems in understanding and using the rules to form
grammatical sentence. They still make error due to th;:jr lack of English
Grammar knowledge. Therefore, the errors made by the students indicate fhut
they still have to learn much about the grammar of English,

2. The frequency of the types of errors in the presentation of this writing in the
previous chapter shows that the largest number of errors made in the student’s
writing is in the use of infinitive. There are 14 errors which occur in using
infinitives. The students can not distinguish when an infinitive verb used with
‘ta® and when it is not followed by “to”. In conclusion, this indicates that the

largest difficulty in using verb is using ‘infinitive’ verbs.

3. The difficulties in using the infinitive may be noted that they do not have
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enough competence in using English as well as they are lack of practice.

- Other errors which often occur are the error in using number agreement, The

analysis shows that the students do not know when a noun is in plural form

and when it is used as a singular form, In their writing, the students do not

follow the rules that if the noun i plural, it is followed a noun modifier such

as, ‘some’, “all, *many’, etc.

- The following data are the other ermors occur in the sentence mentioned

previously:

Omitiing Auxiliary Verb, There are eight ermors which oceur, They are
indataB, 20, 32, 35, 2x 45, 46, and 51.

Verb Tense. There are seven emmors which ocour. They are in data
Diata®, 10, 30, 31, 43, 44, and 47.

Paszive. There are seven ermors which oocur. “hey are in data 21, 286,
27.29.33.36, and 37.

Subject Verb agreement. There are six errors which occur. There are in
data 12, 17, 24, 25, 37, and 40,

Word form. There are five ermors which occur. They are in data 43 2x,
44, 46, and 49,

Preposition choice. There are five errors which occur, They are in data
43 2x, 44, 46, and 49,

Omitting subject. There are four errors which oceur. They are in data

6, 13, 16, and 32,
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ﬂmitting moun. There are three emors which occur. They are in data
34,42 and 50

Omitting preposition. There are three errors which oceur. They are in

data 4, 23, and 45

1 Omitting conjunction. There is only one error which occurs, It is in

data 40,
k. Word order. There is only one error which occurs. It is in data 2,
32, Buggestion
Based on the conclusion above, the writer would like to present some
following sugpestions:

1. The students should improve their ability in using English grammar
particularly i writing. The students can read more about English grammar
and their rulzs,

2. The student should focus on studying the rules of grammar especially on the

maost frequent errors they make.

3. The wrter hopes that the occurrence of errors on what students make can be
solved by giving them g!_u_lﬂueniim and practice in order to develop their

knowledge about English grammar.
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